TEMPERATURE COEFFICIENT OF RESISTANCE          

AIM

[image: image1.bmp]The aim of this experiment is to measure the temperature coefficient of resistance of a sample of iron wire.

WHAT TO DO

Set up the apparatus as shown in the diagram.

Place the coil of wire in the beaker of cold water and connect it into the wheatstone bridge circuit as shown. The standard resistor (S) will probably be between 1 and 10 ohms.

Measure the resistance of the coil by balancing the bridge.

Heat the water and rebalance the bridge for a series of temperatures in the range 200C -  1000C.

ANALYSIS AND CONCLUSIONS

Plot a graph of resistance against temperature and thence determine the temperature coefficient of resistance () from the formula:

 = [R – Ro]/Ro
where R is the resistance at 0 oC , R the resisitance at C,  the temperature difference and  the temperature coefficient of resistance. 

Comment on any sources of error in your experiment.

N.B a digital ohm meter could be used instead of the wheatstone bridge.
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